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The Power Rule (Derivative Formula) Q. 10 

 
​

  differentiate:                 𝑦 = 2𝑥3−5𝑥

3𝑥4

 
simplifying the division, 

​

              𝑦 = 2𝑥3

3𝑥4 − 5𝑥

3𝑥4

 
simplifying exponents, 

​
                    𝑦 = 2

3 𝑥−1 − 5
3 𝑥−3

 
 



applying the Power Rule: 

 

 𝑑
𝑑𝑥 [𝑥𝑛] = 𝑛𝑥𝑛−1

 
 

differentiating each term, 

​
                        𝑑𝑦

𝑑𝑥 = 𝑑
𝑑𝑥

2
3 𝑥−1( ) − 𝑑

𝑑𝑥
5
3 𝑥−3( )

 
​

                          𝑑𝑦
𝑑𝑥 = 2

3 − 1( )𝑥−2 − 5
3 − 3( )𝑥−4

 
hence, 

​
                         𝑑𝑦

𝑑𝑥 =− 2
3 𝑥−2 + 5𝑥−4


